=g 2 N = I/
T HEERIEFR (K01
TH4 | R7=242 BENZEERESGRM = - i XER ek FEXy TH M HERT - (ETE
% TR X5y TH RS
TFX gy « TRE - FER - FmB1 FS BT g (FilEl) & (4mE) B T
TH RS
= 1
X R T
2V 1
X R T
= 1
T = X R M T ER 5y TR, Bk -
KEIX 4y 243 15cm, WA JE 1. 5mm,
BEACHES 2 e L m 1, 500
T i = X R it TR Sy VR mh R mh, Bk - 1
B Ay AR 15cm, A2 J£1. bmm,
BEACHES 2 e L m 1, 000
A AV X ] R T TRy i AV b VAR, ik
ARER Ay D S 15em, EHEAS 5
b m 1, 000
IE% T
2V 1
RIEEE T
= 1
IR EE A E (B)
A H 10
RN %
= 1
B ER
= 1
— 1 —

=
N
Jjm



1.5

i

<

ffz¢ (K01)

TH4 | R7=1 BEN=MEEEHRM = - A XEe FHEX Y TH BSHERT - (e
% TSy TH e
TSy - AR - R - BAk B (4D K S

Ham et (R§Et L)

W T

B E A

T

R L A

R i

THEBUAR S Ol 5 T B Bl 4

T

=
N
Jjm



